Section GRINDER Page 607

installation - HPGF(X

60" DIA. STD.
l@————  48'DIA.(OPTIONAL) ——— ]
72" DIA (OPTIONAL).
/////// E} \\\:\\
s T NN
// // Gﬁﬁ \\ N
/7 NN
/7 NN
/’y 16:1/4 9 W
N/ \ \\ \
,/ // i {}7“7 \\ \\
|
SEAL FAILURE ! 0
LIGHTS (OPTIONAL) i
\\ \\
v\
(Y
\ \\
\
N
L 2'wpl. AN
COUPLING AN
o 5/8STUDS
(4) HOLES
1-1/2 GALV. PIPE
GUIDE RAILS
< FLASHING ALARM LIGHT
[ optoni)
DUPLEX NEMA 3R OR 4X
CONTROL PANEL i
(SHOWN OUT OF POSITION)
i
VENT
HoUNTIG s LOCKING HASP (FOR
STAND PADLOCK BY OTHERS)
21 .
— = ]
L LIFTING CHAI
Y INTERMEDIATE BRACE REQD.
j FOR EXTENSIONS LONGER THAN 10°-0"
!
/ J GATE VALVE EXTENSION PROVIDED FOR
/ | DISCHARGES GREATER THAN 20" FROM TOP
/ OF BASIN
50" MIN. T
160" MAX. ;
/ ! BALL CHECK VALVE (2') TANK DIA. A
// GATE VALVE (2 48" 1"
éj s 60" 8"
ALARM LEVEL f N " "
(OPTIONAL) b 1 8
TURNON é ; HYDRAULICALLY
G e { | Torues | SEALED DICHARGE
TURN-ON )
ONE PUNP 3._0,.
_ TURN-OFF ( ) N SEAL FAILURE
_ LBVEL
70N AN
v ¢ ARIEAN
L - L - Ty - o g:;

ALL DIMENSIONS IN INCHES
»:& PENTAIR  HYDROMATIC

October © 2014 Pentair Ltd.



Section GRINDER Page 608

installation - HPGF(X

DUPLEX INSTALLATION WITH J-BOX AND REMOTE MOUNTED PANEL

60" DIA. STD.

48" DIA. (OPTIONAL)
72" DIA (OPTIONAL).

- ///// {9 \\\1\\
s o N
s NI
/// T A AN
/ \
/) 161/4 9 R
— 2@ _DISCH. /
;T,a’@" \ ,/ // {}7}{7 \\ \\
T 91/2 I ' I
| |
L g sune = 2313 10 s
91/2 [
- \
B A— ”1, v
VVaE DISCH. N
\
\ \
NBN
\
NN
NN
toliti
Nl 5/8 STUDS
(4) HOLES
1-1/2 GALV. PIPE
1-1/4 T CONDUITT0 GUIDE RAILS
POWER SUPPLY (2" NPT
CONDUIT REQUIRED WITH SEAL
FAILURE OPTION)
o ) < FUASHING ALARM LIGHT
© {OPTIONAL)
PP
=
DUPLEX NEMA 3R
OR 4X CONTROL PANEL
f < LOCATED OFF COVER
© O
LOCKING HASP (FOR
PADLOCK BY OTHERS)
il
NENA 4 pE
JBOX ‘3£ I LIFTING CHA
— INTERMEDIATE BRACE REQD.
" FOR EXTENSIONS LONGER THAN 10°0"
|:| GATE VALVE EXTENSION PROVIDED FOR
—— DISCHARES GRATR THAN 7. FRON T
50 N,
160 HAX, TANK DIA. A
BALL CHECK VALVE (2') 48" 1"
GATE VALVE (2) m g
n n
ALARM LEVEL F g 72 8
(oPronay) | I
ah HYDRAULICALLY
—TURN-ON_ T} SEALED DISCHARGE
G e ,ﬂ,morumm FLANGE
TURN-ON é
ONEPUNP .
TURN-OFF N SEAL FAILURE
. LBVEL ’
70NN, N
| ¢ < \P\\
Te 7 ) ST T LT ]
14 - - 14 - - -
v < v 4 - v 24 e > v
ALL DIMENSIONS IN INCHES
'@ PENTAIR  HYDROMATIC October ® 2014 Pentair Ltd.



Installation - H PG |: Section GRINDER Page 705

DISCHARGE PIPING AND RAIL GUIDE ASSEMBLY

___—(8) 3/8-16 HEX NUT - 191094018

LIFTING BAIL - 9321-004-3

BALL CHECK VALVE
6918-001-5 UPPER GUIDE - 8525-023-3

0
(

(.

‘;% kl )’
E .‘i) S _— (2)STUD - 13010-025-3
N ’!
T
<
S——— GRINDER PUMP

0

/7
&

N ]
—

—
/ LOWER GUIDE - 8524-002-3

/ (4) 3/8 WASHER - 156-032-1

éi (2) CAP SCREW - 191014017

October © 2014 Pentair Ltd.

»:b PENTAIR  HYDROMATIC'



Section GRINDER Page 706 |n8ta“at|0n — H PG FX

DISCHARGE PIPING AND RAIL GUIDE ASSEMBLY

&~ (8)3/8-16 HEX NUT - 191094018

BALL CHECK VALVE LIFTING BAIL - 9321-004-3

6918-001-5
UPPER GUIDE - 8525-025-5

3/8 U-BOLT - 6100-003-1

(2) STUD - 13010-025-3

_— GRINDER PUMP

7/ (4) 3/8 WASHER - 156-032-1

=N
é é/ (2) CAP SCREW - 19101A017

@ PENTAIR  HYDROMATIC October © 2014 Pentair Ltd.



